
Honors Calculus

Keeper 23



X-intercept(s):  plug in a 0 for y and solve for x

Y-intercept:  plug in a 0 for x and solve for y



We say that x = c is a critical point of 
the function 𝑓 𝑥 if 𝑓 𝑐 exists and if 

either of the following are true:

𝑓′ 𝑐 = 0 or 𝑓′ 𝑐 = DNE 

***If a point is not in the domain of the function then it is 
not a critical point.



*Make an f’ line using the critical points & 
undefined values of f. Then plug in numbers to 
𝑓′(𝑥) to find out + or –

Intervals of Increase: Intervals where 𝑓′(𝑥) is 
positive

Intervals of Decrease: Intervals where 𝑓′(𝑥) is 
negative



A local max occurs when 𝑓′(𝑥) changes from + to –

A local min occurs when 𝑓′(𝑥) changes from – to +

*To find the Y-value, plug into f(x)



Concave Up – Occurs on the interval where 
𝑓′′(𝑥) is positive

Concave Down – Occurs on the interval where 
𝑓′′(𝑥) is negative



A POSSIBLE point of inflection occurs where 
𝑓′′ 𝑥 = 0 or DNE but is in the domain of 𝑓

The actual point of inflection occurs when 𝑓′′(𝑥)
changes signs. 
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